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& RENMNERBEFNEREMTE No. 1
RETEEAT RETERR e
34 L 3- & 1ﬁ;i =
® H W= g B B 24 g B B e | FUHEER WE
[ERZAR %
I #ETHE = 51,478,580 = 58,823,100 7,344,520 HE%E
| w5 THF = 5,842,386 = 5,842,386 0
IM| el T4 =X 13,435,137 Y 13,435,137 0
RN % 70,756,103 78,100,623 7,344,520 H4EE
SiSTE ey
[ HmEGes Y 2,486,094 Y 2,667,673 181,579 #5948
0| B5E e =X 8,151,612 = 8,552,872 401,260 HE%E
— R R 2y 10,939,327 X 11,885,475 946,148 HE%H
B TE 21,577,033 23,106,020 1,528,987 H4%H
&t 92,333,136 101,206,643 8,873,507 H4%H
TS SREEST 11U e 92,333,000 101,206,000 8,873,000 H&%H
THE RS %A 9,233,300 10,120,600 887,300 H4%H
wast (LFEE) 101,566,300 111,326,600 9,760,300 H4%E




& RENERLEFENEREBMIE No. 2
RETEEAT RETEFR a3
® H L Y AT Yy g BE BE o | EUEEE WE
I |BETSE
Al | BEMAMEELE M T 2V 37,157,516 oy 40,460,033 3,302,517 |Ha%H
A2 |BEBENMUYSOE LHE = 14,321,064 = 18,363,067 4,042,003 BE%H
Gt 51,478,580 58,823,100 7,344,520 HEEE




& RENERLEFENEREBMIE No. 3
RETEEAT RETEFR a3
® H L Y AT Yy g BE BE o | EUEEE WE
Al | B EESN RSB T E
A |BEMIEE LB T 2V 31,463,586 Y 34,450,031 2,986,445 |HE%H
B [JEVER TARSMEE L & T % = 5,693,930 = 6,010,002 316,072 |H4%H
Gt 37,157,516 40,460,033 3,302,517 HE%H




2 W RENERLEFENEREBMIE No. 4
RETEEAT RETERR et
® H "= g B B s g B B e | FUHEEER WE
A-A B EFS BRI E
1 |EERGETE 1 K 8,194,997 1 =X 8,194,997 0
2 Pk LE 1 = 10,293,988 1 = 10,304,588 10,600 |HE%H
3 |MEELE T E 1 K 5,747,366 1] =X 8,673,275 2,925,909 HE5H
4 |[BEXETE 1 = 2,421,320 1 = 2,421,320 0
5 |BEKETHE 1 K 3,582,158 1] =X 3,582,158 0
6 |-y 1 = 1,223,757 1 = 1,273,693 49,936 \BE%H
&t 31,463,586 34,450,031 2,986,445 HE%H




2 W RENERLEFENEREBMIE No. 5
RETEEAT RETERR a3
® H "= g B B s g B B e | FUHEEE RE
A1-BliE Y ER TR/ EE St T
1 |EERGETE 1 K 746,412 1 =X 746,412 0
2 Pk LE 1 = 848,460 1 = 848,460 0
3 |AhEE BAR G E T E 1 K 2,473,968 1 =X 2,790,040 316,072 HE%E
4 |[BEXETE 1 = 1,304,804 1 = 1,304,804 0
5 |-y 1 K 320,286 1 =X 320,286 0
Gt 5,693,930 6,010,002 316,072 HE%H




2 W RENERLEFENEREBMIE No. 6
RETEEAT RETERR et
® H "= g B B s g B B e | FUHEEE RE
A2 | B ZEEA M LBETLSE
1 |EERGETE 1 K 534,470 1 =X 1,135,970 601,500 H4%H
2 |[BEdELE 1 = 1,534,687 1 = 1,534,687 0
3 |k s T E 1 K 5,410,228 1 =X 5,410,228 0
4 |[BEXETE 1 = 123,060 1 = 123,060 0
5 |azyh R OVFEOM TEH 1 K 4,658,340 1 =X 4,658,340 0
6 |-y 1 = 2,060,279 1 = 5,500,782 3,440,503 |Ha%H
&t 14,321,064 18,363,067 4,042,003 HE%E




